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The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Tifapel ST ST ACHT AT [E |
AT FAPTET e ©FF Ced 77 27

Group-A

1. Answer any five questions: 2x5=10

& I FlG 2e8d Ted nie ¢

(a) What do you mean by resistivity of a conductor? Mention the unit of resistivity.
@I AR @lE T 0e @R @ET 9 S FE!

(b) While a capacitor still connected to a power source what will be the potential difference
between the plates when the spacing between them is halved?

YR ST SRZR M (I QA ATTa@E 779 S T T O2CE AforE@d &) [red
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(c) What do you mean by active and passive circuits?

Hgw ¢ g 8T TeTce F @R

(d) Why the internal barrier developed in a pn junction diode does not send any current in
the external circuit?

pn SRl TIENCT 3 Seredid i Kea @ afzg: I6ce ©fde Q. Avies s i

(e) What do you mean by back emf in relation to a d.c. motor?

93 @BET v em Sfwies I 0o F @R ?

(f) What do you mean by Wattless current?
FAOR S &7 I&0e J (@I 2

(g) What is the relation between fusing current and diameter of a wire?

@ AR g T 2[R A O [T AE F e

(h) What is meant by forward and reverse biasing of a semiconductor diode?

@35 SRR BT TYLTS! @R [ AT IeIce @RI 2
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Group-B

Answer any four questions: 5%4=20
@ (@) HIFG 2teE Ted wie ¢

2. Define Ohm’s law. What are ohmic and non ohmic conductors? Establish Ohm’s law on the
basis of electron drift velocity in a conductor. 142+42=5
G20 g e Sl | 6T G ORI R AR 10 F @I 2 (el AR SReEiE @
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3. What do you mean by equivalent resistance? Find the equivalent resistance of the given circuit
between (i) A and B and (ii) C and D. 1+2+2=5
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4. How a galvanometer can be converted into an ammeter and a voltmeter? Draw the necessary

circuit diagrams. 3+2=5
a3 TSIHIRGIAE Tl SHNRvE 1R (SrFoRoE Feileie T3 T ARG oAl
R Al

5. What is a dc motor? Describe with a circuit diagram the functioning of a dc motor. 1+4=5
de (NG Fi? o 936 de MG FL=ART 17 FE |

6. State Kirchoff’s laws. Applying Kirchoff’s laws determine the current flowing through 1Q

resistance in the following circuit. 2+3=5
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7. How does a deplaction layer form in a semiconductor diode? How does the width of tis region
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change when the diode is forward and reverse biased? What is Zener Breakdown? 2+1+2=5

SR TiEe FreiE it www ofe 232 TiEe TgLs! 3k [eide IR ow g
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Group-C

Answer any one question: 10x1=10

& @IE 9 AT Ted WS ¢

What is a transformer? Describe with a neatly labelled circuit diagram the principle of action
of a transformer. Enumerate different types of losses in a practical transformer. How are these
losses reduced? 1+4+42+3=10
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What do you mean by rectification of an ac signal? With the help of a circuit diagram explain
the use of a pn junction diode as a full wave rectifier giving its input and output waveforms.
What are the advantages of a full wave rectifier over a half wave rectifier? 1+6+3=10
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THAE TR IFAFTT RN eI IS I O A1l 1S | SFeT3 QTP G
e GFAFRES JIAET Rl F Fe



SP-V/PHS/504/SEC-3/19 (4)
B.Sc. 5th Semester (Programme) Examination, 2019-20

PHYSICS
Course ID : 52410 Course Code : SP/PHS/504/SEC-3
Course Title: Physics Workshop Skill
Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Tifapel ST ST ACHT AT [E |
AT FAPTET e ©FF Ced 77 27

1. Answer any five questions: 2x5=10
T I A dees Ted mie ¢
(a) What are the uses of Multimeter?

NFGRGIET a9Qa Fe

(b) What is the meaning of SI units? The density of copper is 8-83 Kg/am®. Express it in Kg/m®.

SI @a(Fa 9 F? FAIET G919 8-83 Kg/am® | €3 Tg(F Kg/m’® G 2R A |

(c) What is the requirement of using lever?

ool IRET dEEaTel Je

(d) Discuss about the welding defects.

SN 9T FOBE SNGENS FC |
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(e) How do you measure the diameter of a thin wire?

F SOIEE T IS MATE, SNED I |

(f) What is PCB?

PCB 1?7

(g) What is the utility of vernier scale and screw gauge?

SIffaIE (&6 @R F (9Ie [ 2

(h) What is the Horizontal sweeping of oscilloscope?

Oscilloscope-43 2B(ETIF sweeping SICEIH B |

2. Answer any five questions:
& (el AAplo 2o Tew mie s
(a) Discuss how to measure the height of buildings using sextant.

JFT AR eI 36! AfTT THS! Tid, D FCE |

(b) Discuss the mechanism of Vernier Calliper and screw gauge.

il FifErsE @R F-Colres TN bl e |
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(c) A Vernier Callipers has 1mm marks on the main scale. It has 20 equal division on the
vernier scale which match with 16 main scale division. Calculate the least count for the

vernier scale.

GF5! ST FfAACR TIEE 1mm T @itz 93 @i 20/ @it st eI e @@
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(d) Discuss regarding the drilling of holes of different diameter in metal sheets and wooden

block.

qred 7T G2 I A6 GeTa fogwa T F=iE SeETdal el |

(e) How do you make timer circuit and electronic switching using transitor and relay?

GAPPEIR ¥R i e F@ FeE TR ARG ¢ TErws J2s off F9Ee

(f) What kind of lever will you use to lift a heavy weight object. Discuss in details.

OISR TEE (ST G S F A GO QT FA@? AN A |

3. Answer any one question: 10x1=10
@ @I 930 A3 TR WS 2

(a) Write down the working principle of power generation system. Discuss the soldering of

electrical circuits. 5+5=10

*fE TeAW T LA GG Il | ZEFGIE ARFG soldering SNEAD FT |
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(b) What are the common material used for manufacturing? How do you make a regulated
power supply? Draw a schematic diagram of regulated power supply. What is Breaking

system? Discuss shortly about the pulley experiment. 242+42+2+2=10

WEFsIa-a F F A 7ML 92 T W2 FOIE@ GF6! ([@LTEES power supply
IR 2 (AVTEDBS power supply-4 schematic 5@ I | @R8G5 F 2 Pulley experiment
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